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Il Semester B.Com. Examination, May 2016
(CBCS) (Fresh + Repeaters) (2014-15 and Onwards)

COMMERCE:
Paper — 2.4 : Retail Management
Time : 3 Hours Max. Marks : 70
Instruction : Answers should be either in English or Kannada.
SECTION-A
TN - D
Answerany 5 sub-questions. Each sub-question carries 2 marks. (5%2=10)

CIRTYTRTCR S5 GOT-BINE LU0 B8 YWB-TBRA2 BB,

1. a) Whatis ‘business plan’ ?
‘R R0 03ReRT DOWTERD ?

b) Give the meaning of ‘cross merchandising’.
" 903-TTIT LR W00,

c) What is mark-down pricing ?
s 2363 0BT ?

d) Whatis FDI ?
FDI 205338630 2
e) Whatis ‘Online retailing’ ?
'e303eF © QT TTT OB ?
f) State any four types of retail stores.
I eRaploaniein O3REITITTR T, DENIS) S9R.
g) State any two merits of direct selling.
g:%g RDNTIWTE OB @’oﬁmeudﬁﬁdg{ 2ITO00.
| SECTION-B
NN - W
Answerany 3 questions. Each question carries 6 marks. (3%x6=18)
O3RPYTTCR 3 @%ﬁ@ﬁ VB0%. T @%ﬁﬁ 90BN,
2. What is tele-marketing ? State its advantages.
B0~ D0 OWBE0 7 LT eﬁabﬁfa@éﬁ@@t A elevblo)

3. Briefly explain the role of coupons in retail marketing.

=96 QBONTE TWesRed 23eedny m_é)daﬂgt F’ao%gmﬁ Q30 e
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4.

Enumerate the role of media in retail promotion.
WQT 9,TT AUB e Ty3,0300IE TR TOT TBI), WedFFOR.

What are the features of good stores layout for retail shop ?
VB WQT BRI ST DTYRE OFENTD) ?

Briefly explain the code of ethics for retail industry.
QT BRTE YTTOT VeER0LINTS), Bo§FTamoN LI

SECTION-C
QIO - &

Answerany 3 questions. Each question carries 14 marks.
O3 TRTTR 3 apjéj@r? SUBOR. T8 geiﬁ 14 30850,

i

10.

1

Explain various phases of retail life cycle with suitable remedies.

WOT BRTDE WD WHT DN TSI, TBOTOONHRODN Q0.

What are the steps involved in retail planning process ? Explain.
BT @RTE3 032D 503001 NG BOBNFT)) 7 WWOR.

a) State the factors influencing price sensitivity.
23e3 mggm 206 T WeTOI woﬁﬁ%@@mmdd‘a S9R.
b) Explain the importance of logistics in retail business.
WQT RTDTTA FOMRESFOI) 2,30),BOIRY, DIOR.

Explain the techniques and benefits of trade area analysis.
TTOT Y DFEREBO 0T, 0B Tore T3RERINER D30R.

Write a note on :
NSNS W, £33 2080000

-a) E-retailing

G- WQT FFTOT
b) Departmental Store.
QLIONCOD) TIVTOES TP

AR

(3x14=42)
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